

ComfortDelGro Engineering Pte Ltd

59 Loyang Drive Singapore 508969

Our Ref

Date

Attn: Motor Claims Department

Dear Sirs

Time of Fax

Via Fax

Your Insured

Date of Acc

SURVEY OF CLIENT'S DAMAGED VEHICLE REG NO. SH

Our client has engaged us to repair the above vehicle and submit claims against the other party/partiesinvolved in the accident.

In accordance to the motor claims framework, we hereby request your presence at 59 Loyang Drive, Singapore 508969 to survey our client's damaged vehicle.

Enclosed, please find:

- Our initial estimate of repairs of the damaged vehicle;
- ii) Accident report made by our client.

I would appreciate it if you could call us to arrange for the survey of the vehicle:

♦ Lim Kwok Eng ♦ Jumani Bin Masudin Lim Tien Siong

Tel: 6214 8355 or HP: 9824 0811 Tel: 6214 8315 or HP: 9635 5305 Tel: 6214 8398 or HP: 9635 8546

◆ Chiang Liat Choon

Tel: 6214 8314 or HP: 9296 6006

limts@cdge.com.sg Fax no. 6546 8156

If we do not hear from you within the next 48 hours, we shall deem that you have waived your rights to survey our client's vehicle and we shall proceed to engage independent surveyor without further reference to you. We henceforth reserve our rights to claim for Loss of Use and Loss of Rental during any delayed period of this survey arrangement.

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a Motor Surveyor appointed by the Insurance company.

Thank you.

Yours faithfully

Lim Tien Siong

For Vice President Taxi Accident Repair

COMFORTDELGRO ENGINEERING PTE LTD

REPAIR ESTIMATE

Updated 1 November 2020

P1/2

DATE:

2-Sep-21

INSURANCE: AIG ASIA

MODEL:

Hyundai i40

MVA: NA

VEHICLE NO.: SHA1049D

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
	Bonnet	1		\$2,265.90
	Bonnet Hinge (LH/RH)	2	\$126.70	\$253.40
	Bonnet Lock	1		\$142.20
	Radiator Grille H Emblem	1		\$129.50
	Radiator Grille	1		\$1,480.00
	Front Bumper	1		\$1,052.20
	Front Bumper Clips	10	2.20	\$22.00
	Front Bumper Sponge	1		\$379.20
	Front Bumper Reinforcement	1		\$588.40
	Front Bumper Centre Grille	1		\$114.00
	Front Bumper Lip	1		\$152.00
	Front Bumper Bracket Top (LH/RH)	2	\$22.40	\$44.80
	Front Bumper Bracket (LH/RH)	2	\$24.60	\$49.20
	Headlamp Support Panel Assy	1		\$907.40
	Headlamp (LH/RH)	2	\$1,388.00	\$2,776.00
	Headlamp Support Top Cover	1		\$222.60
	Radiator	1		\$1,637.20
	Radiator Fan/Cowling	1		\$1,194.20
	Radiator Guard	1	\$76.50	\$153.00
	Horn Unit (LH/RH)	2	\$73.80	\$147.60
	Horn Wire	1		\$156.60
	Aircon Condenser	1		\$947.80
	Aircon Suction & Liquid Hose	1		\$624.00
	Rear Bumper	1		\$553.00
	Rear Bumper Under Cover	1		\$228.00
	Rear Bumper Clips	10	\$2.20	\$22.00
	Rear Bumper Reinforcement	1		\$428.40
	SUB TOTAL			\$16,670.60
	LESS 20%			\$3,334.12
	DISCOUNTED TOTAL			\$13,336.48

PART NO.	DESCRIPTION	QTY	UNIT PRICE	AMOUNT
			SHA1049D	P2/2
	Front No.Plate With Trim Cover			\$55.00
	Reverse Sensors			\$135.70
	NETT TOTAL			\$190.70
	SPARE PARTS TOTAL			\$13,527.18
	Labour Charge			
	Panel Beating			\$1,200.00
	Spray Painting Charge			\$1,200.00
	Wiring Charge			\$50.00
	Tuff Kote			\$50.00
	Towing Charge			\$60.00
	Remove/Refix Reverse Sensor			\$120.00
	Remove/Refix Radiator			\$90.00
	Remove/Refix Aircon & Refill Gas			\$150.00
	TOTAL LABOUR			\$2,920.00
	ESTIMATE TOTAL			\$16,447.18
	This is an initial estimate based on a visual inspection of the prepared after the vehicle is surveyed by a motor Surveyed by	above vehi	cle. The final repair	quantum will be





1 of 3

Report No. T/20210901/2105

Police Station Of Origin: Hougang NPP 357 Hougang Avenue 7 #01-805 SINGAPORE 530357 Tel No: 1800-2869999

REPORT OF A TRAFFIC ACCIDENT

Date/Time Report Made: 01/09/2021 21:25			Vide Report No.:	Station Diary No. 18	
Informan	t's Partic	ulars			
Name of Informant: TAN KOK ENG			Address: APT BLK 477A UPPER SERANGOON VIEW #18-558 SINGAPORE 531477		
ID Type / ID No.: NRIC NO / S7534558E			Contact No.: Home/Office:	Mobile: 97915595	
Nationality: SINGAPORE CITIZEN			Email:		
Sex: Male	Age: 45	Date of Birth: 16/11/1975	Type of Informant: Driver		
Race: Chinese			Language:	Institution / School Name:	
Occupation:			Driving Licence Informat	tion:	

General Inform	mation of the Acci	dent			
Type of Accident:	Injury Others	Drink Drive: No	Date/Time of Accident: 01/09/2021 14:35	Type of Location: Straight Road	
Location:					
CENTRAL EX	(PRESSWAY		*		
Weather:		Road Surface:	Ro	Road Speed Limit:	
Clear		Dry			
Traffic Flow:		Traffic Control:	Tra	Traffic Volume:	
One Way		Not Controlled	Mo	Moderate	
Type of Collision: Between Moving Vehicles - Head To Rear				Anyone conveyed by ambulance:	

Details of Vehicle Involved						
Vehicle No.	Туре	Make	Model	Color	Condition	No of Passenger
SDD8278U	Car				Slightly Damaged	0
SHA1049D	Çar				Slightly Damaged	1
SLN8956Z	Car				Slightly Damaged	0





2 of 3

Report No. T/20210901/2105

Police Station Of Origin: Hougang NPP 357 Hougang Avenue 7 #01-805 SINGAPORE 530357 Tel No: 1800-2869999

CONTINUATION OF REPORT

Brief Details.

On 01/09/2021 at about 1435hrs, I was driving my taxi(SHA1049D) from a Grab Job Offer along CTE Towards Ang Mo Kio Direction on the first lane after Moulmein Road exit. Nothing was amiss. I had one passenger on board(Mr Chia, HP:96453649).

Subsequently, the vehicle in front of me(SDD8278U, S8628070A, Boon Hong Meng) slammed on the brakes and I did so too. There was a vehicle behind(SLN8956Z, S1654894D, Tew Soon Lay, HP:98889311) me and he also slammed on the brakes. However, my car behind couldn't stop on time and skidded. As such, the vehicle behind collided on to my vehicle and my vehicle collided on to the vehicle in front. I am not too sure which impact came first as I was in a state of shock.

I checked with all parties and they informed that they are feeling fine at that point of time. We exchanged particulars and all agreed on insurance claim. However, after a while, I felt tightness on the back of my neck.

My vehicle sustained dents on the front grill, bumper, bonnet and rear bumper. The first vehicle sustained dents on the rear bumper. The last vehicle sustained dents on the front bumper.

As such, I went to see the doctor and I got 3 Days Medical Certificate from 01/09/2021 to 03/09/2021.

I wish to inform there was LTA and Ambulance came to scene however nobody was injured and no conveyance required, there was no case card either.

I have an in-car CCTV but I am unsure if it has captured the incident or not. I will only be able to view it at Comfort Delgro Accident Centre on 02/09/2021 as they are closed.

No government property was damaged.

The purpose of this report is for insurance claim.





T/20210901/2105

3 of 3 Report No. T/20210901/2105

Police Station Of Origin: Hougang NPP 357 Hougang Avenue 7 #01-805 SINGAPORE 530357 Tel No: 1800-2869999

CONTINUATION OF REPORT

Sketch Plan

Informant is not able to provide sketch plan

IMPORTANT: Please attach a copy of your vehicle's Insurance Certificate to this report. If you don't have the certificate with you now, please fax a copy to 65474885 stating the **report number** as reference.

Signature of Officer Recording The Report F / Sgt 2 ROYCE YEW TIAN POH	Signature Of Informant:		
Signature Of Interpreter: Not applicable	Date/Time: 01/09/2021 21:25		
Officer In Charge Of Case: ITP / AEIT / INSTITUTE OF MEN KIAN SN 085	Classification Of Case:		
Consac No.: 65476172 Active nucleation Stamp Pla Signature:			
Singapore Police Force			